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Choose the word or phrase (A, B, C or D) that best completes the sentence:

1. Hadn't T worked hard, I______ ; ®
® couldn't have couldn't succeed © wouldn't succeed ® couldn't have succeess
2. One of the critical -. ©
@) problem of the day is price spiral problems of the day are price spiral
© problem of the day was price spiral ® problems of the day is price spiral
3. Did you________ her a visit? @
@ give take © permit © pay
4, We look forward to____. @
®) hear from you heard from you © be heard from you © hearing from you
5. Mumps___ a very common disease which usually affects children. @
@ is are © has © were
6. ________ trying hard, the boy couldn't succeed.
@ In spite Despite © Instead of ®© In lieu of
7. California relies heavily on income from frit crops, and ______ ©
®) Florida also Florida too © so does Florida ® Florida is as well
8. Manufacturers often sacrifice quality _________ @
® for a larger profit margin in place of to earn more money © to gain more quantities of money

® and instead earn a bigger amount

9. As soon as I came in, she _____the room. @
@ was leaving had been leaving © has left © left
10. Since last year, 1________ him only once. @
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(&) have seen (8) have been seeing ©) see (0) has seen

Identify the underlined word or phrase (A, B, C, or D) that must be changed in order for the sentence to be correc

equipment  in the of fice was badly to be ired.
L. The 4 Bff = % in need of % ©
® A ® B ©c ® b
2 h it and the crew  divided e Tik between Hia t [rantic panssengers @
- The pilo A B e life preservers —~— the twenty D
® A ® B ©c ® D
. h 1
3. Mrs. Stevens, along mi:h & wm;s I New Mexixo ﬂ—g planning % Ele factivities: @
® A ® B ©c © b
S N > . takin ri
4. He WTW to repair % carburetor without —p— the whole car 25— ®
® A ® B ©c @ D
of them are triying to get . highest @
5. Although both — 5 o the scholarship she has the —F5— grades.
® A ® B ©c ® b

Choose the word or phrase (A, B, C, or D) that is closest in meaning to the underlined word in the sentence

1. Fox is related to cunning in the same way as the Taj Mahal is related to. @
@ colur ugly © tactful © beautiful
2. The synonym of truce is_______ @
@ strong trifle © turbulent ® ceasefire
3. The synonym of futiledis________ . @
@ fruitless fruitful © meaningful © useless
4. A bull market is a period when financial investments are _________ in value. ©
® falling raising © rising © decreasing
5. A synonym of sanguine is _______ @
®) optimistic pessimistic © gloomy © pale
6. The word mandatory means ©
(&) Antinnal (8) nraferahla @) Ahlioatary (D) Fharitahla
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7. The raccoon is a nacturnal animal.

® harmless night © marsupial ® diurnal
8. The slender boy_scaled the wall like a lizard. ©
®) balanced crawled © plastered ® climbed
9. A new government department was established to control maritime traffic. @
® sea military © highway ®© air
10. Frank condoned his brother's actions because he knew he meant well. @
®) overlooked praised © condemned ®@ satisfied
1. The discontented students retaliated by boycotting the school cafeteria. ©
@ rewarded vindicated © took revenge © fluctuated
2. As a result of the accident, the police revoked his driver's license. ©
® reconsidered exorcised © cancelled ®© investigated
3. The tourists have decided to take a cruise, so they went to the travel agency for some brachures. @
® questions inquisition © price lists ® pamphlets
4. The campers heard a strange rustling in the trees. ©
@ stealing pillaging © movement ® fight
5. Plato's teachings had a profound effect on Aristotle. ©
® depth affection © affiliation © influence
6. If a mobile is sold at Tk. 11,000; there is a profit of 10%. What is the cost price of the mobile? @
® Tk. 10,000 Tk. 11,500 © Tk. 10,500 © Tk. 12,000
7. It takes 24 hours for 10 men to make 15 cakes. How many cakes can be made if 8 men work for 36 @
hours?
® 18 24 © 12 © 10
8. The ratio of present age of father, mother and son is 7:5:3. The sum of their ages is 75. What is the ©
present age of the son in years?
® 25 20 © 15 ® 30
9. How many prime numbers are there between 1 to 117
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® 4 5 © 6 ® 3
10. What is the smallest positive integer that is evenly disvible by both 21 and 9? ©

® 21 126 © 63 © 42

11. A fruit seller had some apples. He sells 40% apples and still has 420 apples. How many apples he had at @
the begining?

®) 588 apples 600 apples © 672 apples © 700 apples

12. A sum of money is to be distributed among A, B, C and D in the proportion of 5: 2:43. If C gets Tk. 1,000 ©
more than D, what is B's share?

® Tk. 500 Tk. 1,500 © Tk. 2,000 (® None of these

13. In the first 10 overs of a cricket match, the run rate was only 3.2. What should be the run rate in the @
remaining 40 overs to the target of 282 runs?

® 6.25 6.50 © 675 ® 7.00
14. A man buys a cycle for Tk. 1,400 and sells it at a loss of 15%. What is the selling price of the cycle? ©
® Tk. 1,090 Tk. 1,160 © Tk. 1,190 © Tk. 1,202

15. A sum of Tk. 12,500 amounts to Tk. 15,500 in 4 years at the rate of simple interest. What is the rate of ©

interest?
@ 3% 4% © 5% © 6%
16. A man travels for 2 hours at 30 miles an hour and then covers 60 miles in the next 3 hours. What is

the average rate for the entire journey?
® 18 24 © 36 © 45

17. The average age of 24 students in a class is 14. If the teacher's age is included, the average increases by @
1. What is the age of teacher?

® 39 40 © 45 ©® 49
18. What is the difference between 300% of 7 and 200% of 5? ©
® 9 10 © 11 © 12
19. Rubel can do a job in 8 days, and his son can do it in 12 day. How long would it take them to do the @

job if they worked together?
® 4.8 5 © 10 ® 15

20. Mr. Zaman owned % of a land. He sold *;; of his share for Tk. 1,00,000. What was the value of the @
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land?

® Tk. 5,00,000 Tk. 4,00,000 © Tk. 6,00,000 © Tk. 8,00,000

21. Because of the use of Information and Communication Technolgy (ICT) in governmental activities-
i. People of a country can avail government services within a shortest possible time.
ii. Government services are not available during holidays.

iii. The standard of government services can be enhanced.
® i and ii i and iii © ii and {ii ® i, ii and iii

22. Arrange the following words in a meaningful sequence: ®
i. Appointment
ii. Interview
iii. Retirement
iv. Job vacancy

® iv, i, 1, iii ii, iii, i, iv @ ii, iv, i, i ®© 1, iv, iii, ii

23. Hasan must be a student of University of Chittagong (CU), I saw him wearing a T-shirt with a logo of @
CU. The above statement is valid only if it is true that:

@ students of CU often wear T-shirts with CU logo All students of CU wear T-shirts with CU logo.
© sStudents of CU are required to wear T-shirts with CU logo.
®© Only students of CU wear T-shirts with CU logo.

24. Which of the following is a valid assumption made in the viven argument? ®
Premise I: People who wear glasses are smart.
Premise II: John wears glasses.
Conclusion: John is smart.

@ All people who wear glasses are smart. Only people who wear glasses are smart
© John is the only person who wears glasses ®© None of the above.
25. The supporting statement of an argument is known as - @
® Premise Conclusion © Logic ® Reason
26. The principal claim of an argument is called -
@ Ppremise Conclusion © Evidence ® Argument
27. The Chairman entered in the Assembley Hall at 10 minutes before 12.30 pm to conduct the interview.

The Chairman was 20 minutes earlier than the Managing Director. The Managing Director was 30
minutes late as per the time fixed. What was the time fixed for interview?

® 12.50 pm 12.10 pm © 12.40 pm ® 12.00 pm

28. Find the number of squares in the given figure. ©
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® s ®) 6 © 10 ® 12

29. You are goven the following three statements:
Tanya is older than Sonya.
Munya is older than Tanya.
Sonya is older then Munya.
If the first two statements are true, the third statement is.

® true false © uncertain ® irrelevant
30. You are given two statements numbered (i) and (ii) Read both the statements and mark you answer. @
Statements:

i. The police authority has recently caught a group of house breakers.
ii. The citizens group in the locality have started night vigil in the area.

®) Statement (i) is the cause and statement (ii) is its effect;

Statement (ii) is the cause and statement (i) is its effect;

© Both the statements (i) and (ii) are independent causes;

© Both the statements (1) and (ii) are effects of some common causes.

31. Which word does NOT belong to the others? ®
@ Chattogram Dhaka © Bangkok © Jakarta
32. Which of the answer choices completes the same relationship with the third word? "Cup is to coffee as
bowl is to".
® plate Soup © Tablespoon © Nutrition
33. Artist is to painting as teacher is to - ©
® Reading Writing © Studying ® Teaching
34. From the following, choose the word that is the most essential part of KNOWLEDGE. ©
® school Teacher © Textbook © Learning
35. Choose the word that is an essential part of the word SCHOOL. ®
@ student Report card © Test ® Book
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Read the following passage carefully and then answer the questions that follow :

A recent investigation by scientists at the U.S. Geological Survey shows that strange animal behavior might hel
predict future earthquakes. Investigators found such occurrences in a ten-kilometer radius of the epicenter of
fairly recent quake. Some birds screeched and flew about wildly; dogs yelped and ran around uncontrollably
Scientists believe that animals can perceive these environmental changes as early as several days before the mishap
In 1976 after observing animal behavior, the Chinese were able to predict a devastating quake. Although hundred
of thousands of people were killed, the government was able to evacuate millions of other people and thus keep th
death toll at a lower level.

1. If scientists can accurately predict earthquakes, there will be-

® fewer animals going crazy () a lower death rate © fewer people evacuated ® fewer environmental changes

2. In this passage, the word evacuate most nearly means- @
® remove exite © destroy © emaciate
3. Which of the following is not true? ©

® Some animals may be able to sense an approaching earthquake.

By observing animal behavior scientists perhaps can predict earthquakes.

© The Chinese have successfully predicted an earthquake and saved many lives.

®© All birds and dogs in a ten-kilometer radius of the epicenter went wild before the quake.

4. Why can animals perceive these changes when humans cannot?
@) Animals are smarter than humans. Animals have certain instincts that human don't possess.
© By running around the house, they can feel the vibrations. © Humans don't know where to look.

5. What prediction may be made by observing animal behavior? @
® an impending earthquake. the number of people who will die.
© the ten-kilometer radius of the epicenter. © environmental change
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